N = 0l & AHSE B Al M

Hm: DE2 QIRAHIA HIB
Sel: mImol oAl HME (=S H-EY
S - B - S9(3H) - HRA - BES ol&ey plE=L! AimE=T
Bl 1,453,220 1,474,432 ~21,212
2 293,193 293,193 0
s 9,000 9,000 0
= 54,150 54,150 0
= 1,096,877 1,118,089 £21,212
DEA QIAMHIA RIB 216,810 233,022 £21,212
=2 31,293 31,203 0
2 185,517 206,729 ~21,212
HIxol QIR NI 3.390 57,602 ~21,212
=AM~ F3 3.390 57,602 ~21,212
101 ©124| 0 6.212 £6.,212
04 IR ESE+ 0 6.212 £6.212
OSUHBAN LAISY PP EX 0121H|
0! 0 3,106 13,106
OSX L sl S42@ ol2iy| 0 0 3,106 13,106
206 MEH| 0 3,500 13,500
01 M=t 0 3,500 3,500
OFBEOX(SX, 4K S) Mooy SZ=7
WEL 0 3,500 13,500
OSEE 2 i 0%l 0 2,000 £2,000
OmbEI 2 0! 0 1,500 A1,500
401 A& LS CHY| 0 11,500 AT1,500
01 AIZH] 0 11,500 AT1,500
OFEBOIN(SX, X S) Mol SZ=7
I 0 11,500 AT1,500
0Z32Q! 0 0 7,000 AT7,000
0T 0 0 4,500 4,500
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